20224 1z} EXM2RNE =5

=M L EMTY 2| Zf ETA UEMEMETE - UL &7t
1 =0l &M 155 ALOZ AL A 1 17,800 17,800 16,020
2 1719 HAt o/ 3 Ltz 1 42,000 42,000 37,800
3 iAE|d0p oy mmat T 14,000 14000 i 12,600
4 1ROl ALY Lz SRZ|AEIR A 1 22,000 22,000 19,800
5 0|7 £5E2 4 Z0|0F 237 2147|184 1 15,800 15,800 14,220
6 IRMAErEARR 2 &3 24274 7 1 11,900 11,900 10,710
7 17kl o (A uAs A EH| 1 11,500 11,500 10,350
8 iZo| 0¥ (5}) UA5 HAEH| 1 12,000 12,000 10,800
9 ety R EUCTE Y F Y HEY FHOr 20| AMMFLUR 1 13,000 13,000 11,700
10 i'gorzt ofid 2| HYH =E 1 11,000 11,000 9,900
11 23S D& Qo 2| = ui HA| Zbs H2E2x0 1 13,800 13,800 12,420
12 14 Z2Y 2| & OfQIAHEQ! MIA I 233 (M 7H) EFHE HYLE 1ERAHEZ 7 6,900 48,300 43,470
13 AR YE Z22F(BH+EEAYIZIMA A Y &S ELEO] g EAEO 68 5,000 340,000 306,000
14 (HBE Wi MAZ|2| d 60T HyE Sh=5f| 20k Al 60 6,667 400,000 360,000
15 BTS === ortct T e BHUAE 1 13,000 13,000 11,700
16 122 55 AR B 2712 i 1 13,000 13,000 11,700
17 WA 2 e XD/ K] 1 12,500 12,500 11,250
18 iZo} 5t 2sta msAzLof 1 11,500 11,500 10,350
19 125 HE| H|Z H I A| oF 23t 1 10,000 10,000 9,000
20 | IFO| SHAAL ZF 4H 20174 2| 1 11,000 11,000 9,900
21 i5HHRE A 0|35 HEA 1 11,000 11,000 9,900
22 2| AROMAISH 264,274 HEA| orgL 2 14,000 28,000 25,200
23 17|23 22 stokdt 1~43 SENIE ] ojafel 4 12,000 48,000 43,200
24 1HE| KO| O] 4fot off &k M3 1,2H O #[0]| =4O 2 13,800 27,600 24,840
25 1EE =34 =atE4| 1 12,500 12,500 11,250
26 1E2Z5hE ool 5 O % &k S FAHAE 1 15,000 15,000 13,500
27 1 RYEH OFZ0|9F 24 Ot A e ] Hl=g 1 12,000 12,000 10,800
28 RGTH OFZ0|9t iy E U & 2= 23 Hl=a 1 12,000 12,000 10,800
29 iLfE gF ApbH Hr5 0| APAIA 1 13,000 13,000 11,700
30 {0|ELQl ory 1,2 HIZ{O| 2|E 22 ESH|EA 2 14,000 28,000 25,200
31 iH|Wo| 21,234 2| A B A HEHEA 3 15,000 45,000 40,500
32 iA|7He) =Mzt U3 ororst zHef 1 12,000 12,000 10,800
33 i4AbSE O] EFYTH 2 o|3Fot A ol& 2 12,000 24,000 21,600
34 1250 oj47tY? AR A 7|t 1 9,800 9,800 8,820
35 O™ EES AA| Tt 23 1 9,000 9,000 8,100
36 1H0|9] £ AR HiS 2 HA=Z 1 13,000 13,000 11,700
37 (U YR YS A H FY Hrgar |2 ApIF2y 1 12,000 12,000 10,800
38 A& F5HE 73712 M4 0|oF7 | US4 SHE 1 12,000 12,000 10,800
39 12 SBHYO| 2 JtoFst WItA X ALO]EH Hola 4 1 12,000 12,000 10,800
40 (AFOE RSt 25 Q=8 25 20|M SHE 1 13,000 13,000 11,700
41 ZFECHEA| A2 R1~65IEHM E FASANY AR "G 6 9,500 57,000 51,300
42 2| Lot HF-g 27| = 0|2f of|L4 2| 0|07 | oy IS 1 12,000 12,000 10,800
43 180U 7He| MIAYZ 2H| 2 Al ZFH0f 1 13,000 13,000 11,700
44 O{AP7F M4 HERTHE = TH) |34 mE-IoNG 1 12,000 12,000 10,800




45 ORP7F Ml 4fS BHRTHAAH) TS WAL 1 9,500 9,500 8,550
46 1zko|3 i oj2o| M 2|3 CoLtF = Hfo| % 1 13,000 13,000 11,700
47 Zfo|™ il oj~o| WE|A|0] Q2| oL F = HFo| 1 13,000 13,000 11,700
48 42| AE 253t ol 2| 1 10,800 10,800 9,720
49 OjR0| £32| M E(H 5H+EEEE) AL, 3 At s 5 10,000 50,000 45,000
50 iE{'d HMY HapR =4 1 11,000 11,000 9,900
51 A A7Hof| Of7 | Chl = ZI22b0|of7| 3:4 M 14535| 1L MAE 1 15,000 15,000 13,500
52 YHEE EEEA 454 L2 2 R} 1 13,000 13,000 11,700
53 M =4 AL 0]0f & SRt 1 12,000 12,000 10,800
54 HO|QtHEEH HH5| Lt o=z 1 18,000 18,000 16,200
55 IZRAIB|AF 68HA 24t M3 CHd 42 1 13,500 13,500 12,150
56 (HHE | FAA| 143 EEZ 1 12,000 12,000 10,800
57 O|ZO|E I3t 7H & A i HIEFEH £ O] OF7| 484 RIS 1 12,000 12,000 10,800
58 2% 2 M|AOAM Of AFFO| AtEtRITE S = O|2| Z O|At7| og 1 14,000 14,000 12,600
59 1SSt Ol A2t tiaE E3F Joj 0|2 elloro| A2 1 17,000 17,000 15,300
60 E3F o 9 E3h o ojaflloto| N & 1 13,500 13,500 12,150
61 1 A|0F st 1~168 Al2]2(2116H) AMEE 2| ARHERA 16 12,000 192,000 172,800
62 H|LO| HA Jp| OpA 2 1,2H 5| 2 A|0F 20| 2 FAb S 2 12,000 24,000 21,600
63 ioliEtEt7| 7t MA| of = Ol & 0|22 #2427 =4 1 12,000 12,000 10,800
64 10|tk Rt THA| MG 138 5| 2A|Of 2o 2 LA Z 1 12,000 12,000 10,800
65 1AMl MR HHEH 1~6H THEoLo| THEoLo| 6 11,000 66,000 59,400
66 1MOIMo| SHZAFCHES 7,82 A AER|EIA  (OM0| 5T 2 10,500 21,000 18,900
67 AMRIMo| BHZAL T2 194 203 MolM AE2|HEA  1OfO0| & 2 12,000 24,000 21,600
68 UOh= TR 213 28W N E ShARRSPAF HY R 1SHARESEAF 28 9,000 252,000 226,800
69 HTIMO| MAAF O 127 MM Y2 THEoLo| 1 12,000 12,000 10,800
70 (UU2 AR AE2 1328 AEZ| a O|2folioto| M| 2 2 14,500 29,000 26,100
71 (&% JOf BFSHERE D 1~3H 25t J0j FHO LG AL 3 12,800 38,400 34,560
72 &5t Oy apEErs o) 4 B35+ Loy ZL|O{ZUF AL 1 14,000 14,000 12,600
73 2SO 2318 25k Joj 0|2 2lloto| N2 1 13,500 13,500 12,150
74 (EFHUOy BZ g2 1H~5H 23 0y ChAtoj240] 5 13,000 65,000 58,500
75 {E7H0|4|QF oM =0tR E7fo|y| AUEtA EO 1 12,000 12,000 10,800
76 18AMA 0K SEZAN(1~12 M E) 5829 AR E 12 11,000 132,000 118,800
77 {EA:47t HO|2E LH=CHH 40| Qa|5tn 1 13,000 13,000 11,700
78 97| wsiat Zejy 1H~7H HE ZHIE Atk 7 11,000 77,000 69,300
79 i0|&Eof 7F g MY Bt S 2 11,000 22,000 19,800
80 2| Aot MMy Bep S 4o 2 13,000 26,000 23,400
81 QMg MX|1H 2H St Ha] 2 12,000 24,000 21,600
82 03|y Hed ZHo{ O] 1 12,000 12,000 10,800
83 iOfttef of IHH Zsiojo| 1 12,000 12,000 10,800
84 2HOpY| ME2 5= 1 12,000 12,000 10,800
85 1ZFAOFA M| HYAd ABI0{ O] 1 12,000 12,000 10,800
86 Q& CojH|E HIO|H| & Af ZLOjZdFAL 2 12,500 25,000 22,500
87 & Bo|HE B2l A HEA 2 15,000 30,000 27,000
88 zESIstQ ANM NE(H 10H) 294 2 JZo|EEA 10 12,000 120,000 108,000
89 &R|OfA WEE3~4H 2 Mo 0|z & 2 13,000 26,000 23,400
90 4~¢E S0{F= 0|54 1~3H 0|4 AL 3 12,000 36,000 32,400
91 12 HEZA aMg REA 1 11,200 11,200 10,080




92 EBS 2§ O{Sf &3 0k =2 EBS BOOKS 1 12,000 12,000 10,800
93 IEBS HAL &4 QE A2 X(H 43) o|o|z|,0|2& EBS BOOKS 4 12,000 48,000 43,200
94 {EBS it5t0| BOOM (% 27#H) Ol A% M3HZA EBS BOOKS 2 13,000 26,000 23,400
95 1 EHIHS SR 85 B 00| EBS BOOKS 1 12,000 12,000 10,800
96 1AlZFLO| M| Slo|oF7| 504 2=t 2 Al EFH0 50 8,550 427,500 384,750
97 10| 1EFAISH, 6 Of ZH=FAF OJEf At OfofM|& 2 13,500 27,000 24,300
98 2EE HHS| Lt Al&FH0f 1 13,500 13,500 12,150
99 1ea] T YOI 27| A2 Z(14H) ZEALQ| otz 14 11,000 154,000 138,600
100 1P M2 Yoz Ao 2H7(11) ol¥z or2E 1 12,000 12,000 10,800
101 (=atea T et A3 AL of 3 1est QREHEIQ A 1 12,000 12,000 10,800
102 |(WEOSY 55 nNEE 1 12,000 12,000 10,800
103 {47t 712 E1 A2 o 5120 s 1 14,000 14,000 12,600
104 iohg, Mo 77 20|19 InEEES 1 13,000 13,000 11,700
105 OIS X9 £AMSHOIM O %A DAE 28 1 14,000 14,000 12,600
106 14AH|A w2t 244 7| w2t HrA ™ afi& 1 12,000 12,000 10,800
107 174 3'20| OfL{2t & 20F H5l| = HUS of =2 1 12,000 12,000 10,800
108 i1 | of 2940f? uks1 7 ozg 1 13,000 13,000 11,700
109 ek '3 Fofal OfLt oLt ol Zoto| 1 13,500 13,500 12,150
110 (%o =z B g} eyt f7t4 2loj2f EES 1 17,800 17,800 16,020
111 14 Q2 MZFOJALE 3F M7Zh & 27 1 2H HEl& sk 1 13,000 13,000 11,700
112 L= A LLiH| gyt 5714 CH 1 13,000 13,000 11,700
113 i4CHE & of= 1004 O| 22t 4 1 13,000 13,000 11,700
114 1Lk2 7} & 2hotrt ZZ0| CEZ& 1 13,000 13,000 11,700
115 L4t EZhe AtZe OrE4 QISt? S ast ZEM2Y 1 14,500 14,500 13,050
116 14l Q14 2/119] 5t2 0|50 =4 1 12,000 12,000 10,800
117 iU 4Fof oSk AHohet A4 LR BHAH o|opx 1 15,000 15,000 13,500
118 =0| "o a? il S{HHE k==, 1 12,000 12,000 10,800
119 =S oW HIA? Bl 3| E k=3, 1 12,000 12,000 10,800
120 {22252 14,24 ZHH| o] E2|& AFS} 2 15,000 30,000 27,000
121 =MD A0 20| ey 1 15,000 15,000 13,500
122 1L = HH o|°l= Ha 1 13,000 13,000 11,700
123 iceHro| 5tz QoS N5 =it 1 13,000 13,000 11,700
124 2] AHQ OfAE 3t1S o1z|§ EES 1 12,000 12,000 10,800
125 {R=2 o5t 224 0f|L{2| Z{EH0|of7| AfE® gop 20| is2E 1 13,500 13,500 12,150
126 (250 O|&A} Opo| 2 HE o|opz 1 50,000 50,000 45,000
127 1BO2f YA A|E|2 OJOFEa} 7}2Q  {CkmA 1 13,000 13,000 11,700
128 12AE Z29 S| AL OFALE el 1 14,800 14,800 13,320
129 1249 O Y AtFH =g orgof ojzfoto| 1 13,000 13,000 11,700
130 HICH7| ZOHEN| H|o|HE 02 Q 2|7t2 orzg 1 13,000 13,000 11,700
131 (EHOFEHO| HHHH 45 AEE 1 13,000 13,000 11,700
132 123 ol 12Y A 2|72t 22t2 IMEE 1 12,000 12,000 10,800
133 [APASH B 21ex 513 0| 2H 1 14,000 14,000 12,600
134 HEHES 2|7 | = ArEEQ| 52 ol LhA| 2277 1 13,000 13,000 11,700
135 1A Z2t0| BN Py 1 13,000 13,000 11,700
136 1MZHHYS 2oret Azl o oldpEt 1 13,000 13,000 11,700
137 AYS SH HH O E|LLQ? Zo|% OtE £ 0f 1 12,000 12,000 10,800
138 AHFAHEA O|Atw EES 1 13,000 13,000 11,700




139 128k Lhz| AL ol A 2to|ahgy = 11,500 11,500 10,350
140 {&2 4/0f Hota O A FtAEI-Eat 3 ajo|of7| 15,000 15,000 13,500
141 1£0rg £&OMHZ| |07 = 12,000 12,000 10,800
142 A ZHA ofACHO|2) HIETCRS 15,000 15,000 13,500
143 AL gh=At 2 gz A 13,000 13,000 11,700
144 (MfLo0f HIzt2 HETES E] 11,000 11,000 9,900
145 10tE74O| A|7H0| B2 Ly2p7t Qi ? Mz IFf Al 13,000 13,000 11,700
146 {OHg HICtOHY Hz=H 2|3 Of2JO| Lt A ZF 11,800 11,800 10,620
147 10§ L1 Do| 2| Al Of{| A OEJQI =G| iO|2{oto) 11,500 11,500 10,350
148 0{M{Ct EMH{E 247 oy 11,000 11,000 9,900
149 [FELY MHTE DAl ofHrA 2R 7 13,900 13,900 12,510
150 E8E =4 7|7 A+ 24| A|o|& 30|H =E 13,000 13,000 11,700
151 QMg QU YAER o517 24274 7 12,900 12,900 11,610
152 192|7t 2| HZH A4 2c =y 13,000 13,000 11,700
153 10| 2z} ZIdtCt CEZ& 13,000 13,000 11,700
154 i7por Ak 0|22 223 15,000 15,000 13,500
155 1ZZ=0| THE] Enz2t Em|2t 222 18,000 18,000 16,200
156 13w 22 QAL 5| 24 o ST 12,000 12,000 10,800
157 {B2HQt 445t EHHY ol 3 OfFZ 2 12,000 12,000 10,800
158 iU{7t HA LA 20| ofzfo| 12,000 12,000 10,800
159 {4Qf W7t 2| 20| £l &7t zeH Ol £0{ 0 11,000 11,000 9,900
160 (AYH = i e 19,000 19,000 17,100
161 10| AEQ| TiZl 512 MY Eate gzlzL0of 13,000 13,000 11,700
162 &4 2417|509 7|22 ]0]%| S FHo 11,000 11,000 9,900
163 187t 555 Al <221z 0f 13,000 13,000 11,700
164 L2 =2t Hs HotzL|of 11,000 11,000 9,900
165 1AIZE A2 H2s QREHIQA 13,000 13,000 11,700
166 =3t Lt H2s HEA 14,000 14,000 12,600
167 AHAH 22| 25 £0] Z&n| ofo| A& 11,000 11,000 9,900
168 |ROFE OIE E2 Z42{2 CUAAZEL 2IMotEER 12,000 12,000 10,800
169 (HEH A1A z{ & Zal AtIE] 15,000 15,000 13,500
170 148 2% WA RGIE Q| IYHEA 13,800 13,800 12,420
171 12201 ZA| 5 At 220 237} | = LEFAF A =0 Zeiof&io| 13,000 13,000 11,700
172 Q12X 5 AbAlL AL OfMQ SEFt e A 12,000 12,000 10,800
173 122 ES o 12,000 12,000 10,800
174 Q2| gtof| D2ty LIEHCE HFEz| St Z AL 12,000 12,000 10,800
175 Q1= 17k B|E{2{A| 2 A& S} EE MEOHTIFZ{ A 17,500 17,500 15,750
176 5t2 158 25 2 9l7|o| 7| £ 2Ot Q| Hes 17,000 17,000 15,300
177 (Lo A et &3 220kA 16,000 16,000 14,400
178 (M= H 3 20|17 SRR MG A 18,000 18,000 16,200
179 Ml 7Zto| 0|2 B Z of°l 718 YA 4rO A A 16,000 16,000 14,400
180 | QA0 Ql= tof 2z SLgA 16,000 16,000 14,400
181 10]0{F2o| OpA|9f £ DA+ zZdH 16,500 16,500 14,850
182 INFT 3|22M Hazte HYAE 18,000 18,000 16,200
183 1=, EUA AFYSH A G202t Y ZAESY (024 12,000 12,000 10,800
184 iOF2l Q2| ot2 HE2S 9510 IAZEEH2IFH 2 QIZ2M 16,000 16,000 14,400
185 |Lt= CHAIO| SHESHOm ZAAL|CH B2t 510| AE 13,800 13,800 12,420




186 isiul.2 2t2ts5tT oYL U5t NtR 2 ZH AL 1 14,800 14,800 13,320
187 iL+o| MBTI 7t 225tH Ot2| = UALy E LR 1 15,800 15,800 14,220
188 122 AE2 Y3F A:BTS elj4itE LIER == IHH 1 17,000 17,000 15,300
189 i0{ZO| Sh=AL Y X1 = o=y 1 12,000 12,000 10,800
190 o2gl= :IASS Hishs S7| 22 ToE7| A dEOr ArAE 1 13,000 13,000 11,700
191 1A2140] QIZIErL H DA 83 e orgs 1 14,000 14,000 12,600
192 1M 7|5 16: AT X F-20| EfAY Q7| A= 7Y O|243lloto| 4|2 1 13,000 13,000 11,700
193 125 21 219 2|4 547 EBS BOOKS 1 16,000 16,000 14,400
194 (E= njg{zte AEHHY EJPURS| MAl2 1 18,900 18,900 17,010
195 MY 12 4| 25 OfOFX| M2 g AEEA 1 14,000 14,000 12,600
196 {CHY&to| a5t Az sty HYAE 1 19,000 19,000 17,100
197 &2 AAM L 2or20t Clo|H|E 531 9 [A|ZOtE 1 25,000 25,000 22,500
198 iLfj Org9| Z2Al M7|E HEE 1 20,000 20,000 18,000
199 i7fLfotof| #5tCt 0|215] sare 1 16,000 16,000 14,400
200 2|Z O|=7tol| Thot &=L MOIUS 22f0| Y Mol & =FETA 1 22,000 22,000 19,800
201 iy OfSE £3o| WAsle =4 & 1 15,000 15,000 13,500
202 et sk 7| 27| A% 1 15,000 15,000 13,500
203 EASZ MAARAFATH v A2 A AW EZ0 1 23,000 23,000 20,700
204 1ML HAHAROIZE tvnsH B2 NAH AL AR E 2D 1 23,000 23,000 20,700
205 {HRZE Q= MIAIA K=BNJe] = 7H 1 17,500 17,500 15,750
206 IMIZC| M AIAL Z0|Y Za|AH| SHIH| = 1 17,800 17,800 16,020
207 (FIE H= HE Y 4S | 22 710f8 O|HEFY A 1 27,000 27,000 24,300
208 EZ7|o| 20| Lo EIETES Mzto| 3l 1 30,000 30,000 27,000
209 iMS HESHRO ME e Yo 3tal =3 1 18,000 18,000 16,200
210 L= S =0{ 5 =L ks 0Jo|H & 1 17,800 17,800 16,020
211 {3t2% Lt 32} o{C]atz 7tofZCt e £ato| 1 15,800 15,800 14,220
212 1227 HH 4 Azto| Lt 0| P 1 14,500 14,500 13,050
213 YOS A A 5 217| AP 2 13,000 26,000 23,400
214 132}0|&2t0| NE APAA 2 14,000 28,000 25,200
215 320 N AFA1 R 2 14,000 28,000 25,200
216 19 2 AE0| AFA1 - 2 14,500 29,000 26,100
217 UL ROHE M| AEY N k! 2 13,000 26,000 23,400
218 {Op Azt £0 2 QF Iy SE-N 1 9,800 9,800 8,820
219 138 588 IE| AlA Al 22U 0 1 9,500 9,500 8,550
220 {XAfol 0|2 OfZA Q= HE4 1 9,000 9,000 8,100
221 i9EQE| BIIA ISR 1S ES HZ4 1 8,000 8,000 7,200
222 IBCHEZY 20| A HE& m2azl|of 1 10,000 10,000 9,000
223 L= 0lE 7K 4R o34 e 1 10,800 10,800 9,720
224 AAFSHZIS 20| A AHA 24H| 1 12,000 12,000 10,800
225 iHFHS Ct 20|% =5y 1 11,500 11,500 10,350
226 1HO| A= F oz FHA UG A} 1 11,500 11,500 10,350
227 1AL | o9 HorLte 1 11,000 11,000 9,900
228 1 R&| Ot = I LH= 71E A2 HAH SYETA 1 7,000 7,000 6,300
229 32|0f|0|E{ 7t ZtCt zoq b/ [N =1 1 11,000 11,000 9,900
230 !2HE0| AM= Lt2t 20 QREFIRA 1 13,800 13,800 12,420
231 iz5t 0fj2o| 0| =Y Zo|% EER% 1 10,000 10,000 9,000
232 AMEFZE2 A 0|0F7| 2fO|H Za§ 3 Hig 1RI7FH Al 1 14,800 14,800 13,320




233 Lt orataEy ofo| 8,500 8,500 7,650
234 A1 EYE +E 2 qex 8,500 8,500 7,650
235 iR Ot Zojof S 5 13,000 65,000 58,500
236 220t SR} AlAR 5 13,000 65,000 58,500
237 (U7} tot EA|! 2224 UH|E| 5 13,800 69,000 62,100
238 ol g Zne 5 13,000 65,000 58,500
239 50Ot o2 AOIE 2l= 5 13,000 65,000 58,500
240 (RFHOFEY BES B3 5 11,000 55,000 49,500
241 A HE 47174 5 11,000 55,000 49,500
242 (OoH=A7t Gle M HY 5 15,000 75,000 67,500
243 12| 20| Ao Q M2 Mz 2o 5 15,000 75,000 67,500
244 15T 53 70| e 5 11,000 55,000 49,500
245 2SI S22f FrE0I o 12k 4o 5 13,000 65,000 58,500
246 oty 4 OFA|O} Ef 2 5 13,000 65,000 58,500
247 W I8 M| Bore AH A 5 8,500 42,500 38,250
248 4= AlZHOl SME7| 410 Zho| 4 13,000 52,000 46,800
249 :0t2 tFH ZA|Z 5 13,000 65,000 58,500
250 {HRE YOR 203 5 12,000 60,000 54,000
251 ME7| AEY &g 0| 5 12,000 60,000 54,000
252 |® AN =20IAME oFLbCt M| 2I0|Lt2AHZF 5 12,000 60,000 54,000
253 1252 8= e A 5 13,000 65,000 58,500
254 G MAYH2AI 0| &35} 5 10,800 54,000 48,600
255 11951, EA| 4 2ol 48 6 12,000 72,000 64,800
256 (UiA A=t AES A =82Y 6 13,500 81,000 72,900
257 12| Yo 507t Aota e SE 6 10,000 60,000 54,000
258 Oto| AEAl {exM 6 12,000 72,000 64,800
259 MIHAEMYE B o AHE 2E7tE ClojH|E 2= oAz 6 22,000 132,000 118,800
260 (TFE V| ZRME 4313 6 11,000 66,000 59,400
261 O{HO|E Y& HHE HIE SOt o AL 9 i3t F AL F 5 12,000 60,000 54,000
262 A |A|7HO| 25 B E5HT| HIH/EZY 4o 6 15,000 90,000 81,000
263 115 S AlS 4 ARG 6 12,000 72,000 64,800

A 7,795,800 | 7,016,220




